&AREEHINDIR
SET — 2

Series : TYM e =,
T 32/2
J A, ode No.
Roll No. Gl 1S i ST -YfEdeh! h FE@-T53 W
a3 forg |

Candidates must write the Code on the
title page of the answer-book.

o HUA AT B T foh 30 TH-TF H Higd T56 10 + 1 A 3 |

o T-TA U Ifer BT <l 3T e T Shre e i BT I -YfEieh! & JE-I8 W ford |

o T SAIG BT foh U THA-TAH 26 A E |

o PUT I B I TG Y& F1 A U5, T Bl 5hH1h 3wy ford |

o  3H YH-TA HI UG % 7T 15 firte o1 wma fean ma & | W - 1 foawor gatg | 10.15
ool foham ST@W | 10.15 S & 10.30 S dh BT healcl Y31-U b1 UG 37 37 3G &
R o 3T -YFETehT T g IR &1 o1 |

o Please check that this question paper contains 10 printed pages + 1 Map.

° Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

] Please check that this question paper contains 26 questions.
o Please write down the Serial Number of the question before attempting it.

° 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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AT 7697 :

(i) 3T F07-97 4 o726 F97 8 | G 397 I E

(ii) HeIH 97 & 3 3q% G U T E |

(iii) ¥ &I 87 T 3717 TG-IT0T F97 & | Joeh Fo7 1 36 FT & |

(iv) 397 G&I78 @ 18 7% J&% 97 3 37 F1 8 | 377 @ Jcdeh 97 &7 I 80 V=gl @
3718 7 T8 EHT TIET 1

(v) ¥ GEIT19 T 25 T T4 F97 5 37% BT 8 | 377 @ Ie4% J97 H7 I 100 Vil @
ST1er 1 7&] &1 eV |

(vi) I97 GEIT 26 FHIET & GEleT 8 | 399 & 9T 8 26(A4) 3K 26(B) | 26(A) 2 37 HT
SITETT @ T 26(B) 3 37 &7 N7 & & | T &7 J97 YU &4 T 38 3791 Ik -
gicreT & are Teel &1

(vii) O Fe7-T7 G fabeq 787 & | o ot &3 39 B 37raRes ke & 107 a3t v 7 & 5%
& 37T9%] T & [y ge1 HATE |

General Instructions :

(i)  The question paper has 26 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.
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‘AT DTS THET TEI 7, Sfesh I BT SGE 8 | HYA I faveiyr SIS | 1

‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

I o TR 9T GETEET ShT SR shIfI | 1

Classify resources on the basis of origin.

U Hfetsh T’ A TehTareh TR T&ieh fIsh1atl W uraifeat i &g ? 1
JAYAT
SUTE SIHYTST <1 STANT 1 hid & 7

Why did the Roman Catholic Church impose control over publishers and booksellers ?
OR

Why do novels use vernacular ?

1885 T IY o ATShdaR ¢ 3hi Sfei H o3k 1 55 ? 1
Jran

TR 3R STSTEH IrTieqal H U IS b HIGER Tiall hl HR &G 1 A 0l & ?
SR

1887 H ToTalyet o T Tl Hifereh dTed g 4 3% T8 (T BR) § Ted & eudpad
TISTGI ST TR FTHTISTh W&ol i feharl ?

Why were big European powers met in Berlin in 1885 ?
OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries ?
OR

Why did Charles Booth, a Liverpool ship owner conduct the first social survey of low
skilled workers in the East End of London in 1887 ?
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SIS BH Th(eh THTEA] T STANT ohich LG I IcATGH Hd @, a1 38 TR hi Tarafe
Toper 3TTTfh &=k o STRId STl & 7 1

When we produce goods by exploiting natural resources, in which category of economic

sector such activities come ?

GG (3RUT) o SR &5eh o his ol 3eT8L0 Sl | v+l=1

Give any two examples of informal sector of credit.

AT < rfaier forepra o fopgi 1 gl o1 Ieorg hifvrT | vi+l=1

State any two goals of development other than income.

AT oo i Trifa & aftormt w6t iyt @ a1e a9 st 6 e i |

3x1=3

Explain the three factors that are crucial in deciding the outcome of politics of social

divisions.

TR TR <l ST ST hl 37fereh FuTelt 3R wifedsnedt s & fow 1992 § “9qrdfia
Hfgur' # fory 7w gy o foral 9 Trarem i w1 9o hifsu | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution” in 1992 for

making ‘Three-Tier’ government more effective and powerful.

“or - frtietaT e Safaaat = wifé <t weh feramemn 7€ 7, W I8 guR <9 < fiai 8 | v
2 |7 e h T i | 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.
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11.  grefrrar 1 g1 fashme o fofe fohe SohR 7ewqul & ? 3eTetvn |fed IR It | 3x 1=3

How is the issue of sustainability important for development ? Explain with examples.

12. <1 % foepma o foTu oar 3R Aol & TRt ol STavash o1 & 7 foheal o9 shror <t

ST HITT | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

13. TS 3T TS & hl Tl Ial § 37T T6¢ HifT | 3x1=3

Distinguish the service conditions of organized sector with that of unorganized sector.

14. ST H 30901 8 99 6 foTU SuTerTsT § SITEehdl ol ShelTs ST Tehdl & 7 Toheal i aiehl
=1 TS HIfT | 3x1=3

How can consumer awareness be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.

15, “Heq 3R wem uiEsd &1 I QR iR asdE fae 3g qd-anfiaa ] 17 %eH
fergeryor i | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.
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16. 9T § 3T 6! TG §3 H&AT o HRUT ATV STl THILA] T ¢oTa ohdl TR 9 W & 7
T HIT | 3x1=3

How has the ever increasing number of industries in India made worse position by

exerting pressure on existing fresh water resources ? Explain.

17.  “‘Hg0 shifd’ 3 GEAT 3T A T I el ohl Sgerehl ATl bt Tt s1get € |7 e
fergeryor hifsre | 3x1=3

YT

S 3TfEe 3R TTReATe sifve gry shust: forfiaa uss uve Ssgfea’ aum |9 SR’ U= 6t
forer-ag & 31aR TS Fife |
“The ‘Print Revolution’ had transformed the lives of people changing their relationship
to information and knowledge.” Analyse the statement.

OR

Distinguish between the themes of ‘Pride and Prejudice’ and ‘Jane Eyre’ novels written

by Jane Austen and Charlotte Bronte respectively.

18.  ‘Te&’ &1 1890 o Uk H 3THIHI o AN I SATSIeRT 3 A 37wy 1 ug

TS T JUH HITT | 3x1=3
JrerET

19%ff sTaTedt o R TRt 6t foheal = TgE THEA 1 guiH I |
3T

199t STTeS} o SR T <l HTH—FRT A o foTt I3TT T TRl i et <l i HIFT |
Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth

century.
OR

Describe any three steps taken to clean up London during nineteenth century.
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“cgfer hY TSI 3T TAT o AT H Alehd ek sFae foreft ot 3171 e yomeft & rht

T 2 | 39 Y Dl AT ST | 5x1=5
FreqE

“SArhdieh YTH sFeRyTd Wiifd 3N FewTe 1 e S 8 Ariiest & fofg Aeenn arfera

Biel & |7 6 Y I ATFETA 3EULT |

“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual.” Justify this statement.

OR

“Democracies lead to peaceful and harmonious life among citizens.” Justify this
statement.

fereelt =M form wehr Tt 23l o5 STOTRT <A1 Tehientor ot W1 8 7 Jerewll |fgd same

HIT | 5x1=5
HYa

EH 370 2freh Sfia # Svefietur o TTe! 1 fohH TR AW Ha & 7 Il Eigd SATE

HfT |

How has foreign trade been integrating markets of different countries ? Explain with
examples.

OR

How do we feel the impact of globalization on our daily life ? Explain with examples.

Alehas § TSTITeh gell o foheal UTe S hIIT b1 U SHIFT | 5x1=5

Describe any five major functions of political parties performed in a democracy.

9 T 1871 % F1C SToeh &3 H a1 forehies aRfefa= o1 aviq hifs | 5x1=5
Jrean

ferram | 3ufavreTg & faeg wamtet & faem o fafie anfifes axgl 6t e &1 avlq

e

Describe the explosive conditions prevailed in Balkans after 1871 in Europe.
OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.
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Tertlt <31 b1 3TTiRies 3=ifa ferfamtor S o foehra & @i ATt STt 2 7 3ereten afed samen
i | 5x1=5

Why is the economic strength of a country measured by the development of

manufacturing industries ? Explain with examples.

TN e fohe TR wTadt e ot <hl TewtigR <6 |ner wel ® I g ? SRk Wi
T 3 YHTET h ST HIfT | 2+3=5

YT

HIE, e | Higerat i et off wewut ug W e ¢ | i feaferardt @ 7 afgens
3 Tfea rae e | fohg wehr W fore ¢ wrse T |
How did Non-Cooperation movement start with participation of middle class people in
the cities ? Explain its impact on the economic front.

OR

Why was Congress reluctant to allow women to hold any position of authority within
the organisation ? How did women participate in Civil Disobedience Movement ?

Explain.

“1980 & 1990 % €M H T TN A ¥ IR o fTT 3Teh TEATTA G Frefieh gami
1 I3 6 |7 39 HYA hI IgTevn Afgd gfee Hifsu | 5x1=5

Fean
WA H Jafetd ‘e Sfaept S’ 3R arforfsaes Hiv’ i ga i |

“The Government of India has introduced various institutional and technological
reforms to improve agriculture in the 1980s and 1990s.” Support this statement with

examples.
OR

Compare ‘intensive subsistence farming” with that of ‘commercial farming’ practiced in
India.
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B A a 3R b feu T YR o TSI W@T-uEieE § 3ifed fRu T E | 3 weqon
=1 Ffefaa SHerl 6 g8mar ¥ 98T 3 396 Tl A1 39 e gl T
et w fefge 2x1=2

(a) % T STET IR TS g o1 JARIeeH ga |
(b) o8 T & st + geft firer Aigl <k we o Heamrg R |

3ot feu U vRa o TS TEr-uHtes # frefefad 1 Sue fagdt @ geise 31
3o A1 fafau - 3x1=3
() T ErH — TR g -

(i) ETeIl — STeT Te $eTd Hi

(iii) ufvaHt STTeT 1 ATgea=R CoTarsi ITeh

Two features a and b are marked on the given political outline map of India.

Identify these features with the help of the following information and write their

correct names on the lines marked near them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satyagraha’ in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(1) Raja Sansi — International Airport
(ii)) Bhadravati — Iron and Steel Plant

(ii1)) Software Technology Park of West Bengal

9 [P.T.O.
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e : TfRaa Te hae gieeaTie TOETR o fTe T G@1 26 S M WE: 5x1=5

(i)
(i)
(iif)
(iv)
v)

39 U9 1 T fafan st e 1 @t o aret forami = gemrg fera o |
39 U= 1 AT fafan et miefst 3 e g aret o |

39 T 1 T4 Tl wret e Gt TS g gams—o fRa ® |

38 U9 1 T fAafau &t geim el vd e T e © |

38 T o1 A feaRau et R strorfers St g fea 2 |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26 :

(i)
(ii)
(iii)
(iv)
)

Name the state where the Indigo planters organized Satyagraha.
Name the state where Gandhiji violated the Salt Law.

Name the state where Raja Sansi International Airport is located.
Name the state where Salem Iron and Steel Plant is located.

Name the state where Narora Nuclear Power Plant is located.

10
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T ¥, 26 % folT AT
Map for Q. No. 26

WG o1 WT-AFrA (TSTiTeh)
Outline Map of India (Political)
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